ECO112J4

MICROECONOMICS 1

WEEKS 9 & 10
      



 PBL TASK 4



PERFECT COMPETITION & MONOPOLY
GROUPS WILL COMPETE WITH EACHOTHER FOR MARKS DURING WEEK 10, BETWEEN 11.15-12.15 [30 NOVEMBER 06 ]


GROUP COMING FIRST

……………….. 80%


GROUP COMING SECOND
………………. .60%


GROUP COMING THIRD

………………. 50%


GROUP COMING LAST

………………..40%

Questions will focus on the following

1   
The perfectly competitive industry in the short and long run

2
The profit maximising monopolist in the short and long run

3
The price discriminating monopolist

4
Natural monopoly
5
The Internet sources listed below

Notes  for Task Leader:

You may need to prompt the group to encourage discussion in the following areas: 

Key concepts

Total, average and marginal revenue concepts; profit maximisation; normal 

and supernormal profits; perfect competition (PC); short and long run equilibrium of firm and industry in PC; profit maximisation under monopoly;  discriminating monopoly and natural monopolies.

.

Essential Learning Resources





Revenue, profit, perfect competition

and monopoly 



WebCT Presentation

Perfect competition


Begg ch 8, Sections 8.1-8.3

Monopoly



Begg ch 8, Sections 8.6-8.9

Internet Sources

Internet sources relating to Translink Services

http://www.translink.co.uk/enterprisefares.asp
http://www.gccni.org.uk/online_documents/transport_trap.pdf
http://www.gccni.org.uk/press/article/id/324/
Internet sources relating to Phoenix Gas

http://news.bbc.co.uk/2/hi/uk_news/northern_ireland/2773243.stm
http://news.bbc.co.uk/2/hi/uk_news/northern_ireland/3561873.stm
http://news.bbc.co.uk/2/hi/uk_news/northern_ireland/3525416.stm
http://news.bbc.co.uk/2/hi/uk_news/northern_ireland/3602786.stm
http://news.bbc.co.uk/2/hi/uk_news/northern_ireland/4626912.stm
http://www.phoenix-natural-gas.com/
http://www.gccni.org.uk/online_documents/gas_watch1.pdf
http://ofreg.nics.gov.uk/pdf%20files/Gas%20transparency%20statement%20July%2006.doc
LEARNING OUTCOMES: AFTER THIS TASK STUDENTS WILL BE ABLE TO:

· Distinguish between normal and supernormal profits

· derive and illustrate the revenue and cost conditions that generate maximum

profit/minimum losses for PC firms and Monopolists  in the SR and LR

· assess the outcome of competitive structure (and lack of it ) for consumers, producers and society as a while

· understand the role of consumer groups and regulating bodies in controlling the market power of monopolists

· apply their knowledge of market structure to specific industries 

QUESTION BANK USED FOR PBL TASK 4

‘UNIVERSITY CHALLENGE’ QUIZ

NEXT PAGE


1. What is the profit maximising condition for a PC firm?

2. What is the profit maximising condition for a monopolist?

3. List the conditions necessary for PC

4. What is ‘normal’ profit?

5. What is ‘supernormal’ profit? 

6. Why is the distinction between firm and industry important in PC?

7. Define marginal revenue (MR)

8. Define marginal cost (MC)

9. Average revenue (AR) always equals ……… 

10.   In PC, a firm is a price ………..

11.   What is the significance of AR  > AC?

12.   From the model, how do we know whether it is PC or Monopoly?

13.   Why does MR fall as monopolist raises output?

14.    In PC, P …… MC, but in monopoly, P …… MC 

15.    If AC < AR, what happens in PC?     

16.    If AC < AR, what happens in Monopoly? 

17.    In Monopoly, the distinction between the LR & SR is ………….

18.    In the LR a PC firm will earn ………..  ?

19.    In the LR a monopolist will earn …….?

20.    Why are normal profits treated as a cost? 

21.    In PC why will the firm NOT sell BELOW the market price?

22.    Name the market:      AR > AC;  P = AR;  MC = MR;  MC = P

23.    What type of firm can exercise price discrimination?

24.    What is price discrimination?

25.    What conditions are necessary for price discrimination?

26.    Identify THREE monopoly services within NI

27.    Can MR & AR schedules ever coincide in monopoly?

28.    Why does MR normally lie below AR in monopoly?

29.    Why does MR =AR in PC?

30.    How does a ‘natural monopoly’ arise? 

31.   What does OFREG stand for?

32.   In PC, if AC < AR what profits are being earned?

33.   In PC, if AR > AC, what will happen to market price?

34.   Define the short run in a PC industry

35.   In PC, if AC < AR what will happen to the industry supply curve?

36.   In PC, if AC > AR what will happen to the industry supply curve?

37.   From consumer viewpoint, what makes PC attractive?

38.   From a firm’s viewpoint, what makes PC unattractive?

39.   From efficiency viewpoint, what makes PC attractive?

40.   How do we know that in the LR, PC firms are efficient?





41.  Identify market type?

42.  What is wrong with diagram?

43.  Identify correct profit maximising output in diagram 






44.  What will happen to the size of this PC industry?

45.  Identify market type


46.  Identify Q* 

47.  Identify profits

48.  What will happen to market price?




49.  Identify market price

50.  Identify profits

51.  What will happen to the Industry?

52.  What will happen to market price?










       Q*


53.  Identify market price


54.  Identify profits


55.  What will happen to the industry?


56.  What will happen to market price?








   Q*





57.  What will happen to the size of this PC industry?








58.  What is special about this firm?

59.  Identify Q*

60.  Identify profits earned




































































































































































































































61.  Do the above diagrams depict a PC firm or monopolist?

62.  Label both diagrams fully 






63.  Over which section of BOTH schedules is PED:  < 1; > 1; = 1













































































































































































64.  Label diagram fully


65.  Identify maximum profit output, Q*


66.  Convert to a PC firm earning NORMAL profit only 















67.  What evidence is there of price discriminating behaviour in NIR?  

68.  What evidence is there that Foreign Exchange market is close to PC?

69.  What evidence that Pheonix Gas exercises monopoly power?

70.  Identify THREE ways that have been used to control Pheonix Gas

71.  What does NIGCC stand for?

72.  What stance does the NIGCC take in relation to Pheonix Gas?  

73.  How does Pheonix Gas project itself?

74.  What case does Phoenix Gas present for raising prices?

75.  What stance does the NIGCC take in relation to Translink?

76.  The MC of a journey made by public transport  is …….than by car
77.  What is the ‘transport trap’?  


78.  What are the advantages of a ‘hail & ride’ bus service?

79.  Re. Phoenix Gas, what does ‘revenue recovery period’ mean?

80.  What does OFREG propose re. the ‘revenue recovery period’?

81.  Why should extending the RRP help stabilise gas prices?


82.  What was the NICCG view of Phoenix Gas in Autumn 2002?

83.  When did Phoenix Gas begin operating in NI? 

84.  How many increases in gas prices occurred between 1996-2002? 



85.  Identify THREE examples of price discriminating behaviour in NI

For the perfect competition model (PC) use the WebCT Powerpoint presentation, 


Revenue, profit, perfect competition and monopoly, (the Text adopts a different approach over pp 126-131);





For monopoly, use both the Text (pp 131- 139) AND  WebCT Powerpoint presentation








When completing diagrams you must label all schedules & axes





MC





Q*





Q*





LMC





LAC








INTERNET SOURCES





OTHER QUESTIONS








